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(A), (B), (C) and (D) out of which ONLY ONE is correct.

OLYMP'AD

MATRIX

Class-VI (Shift-ll)

PART I : PHYSICS

This section contains 07 Multiple Choice Questions (Q : 01 to Q : 07). Each question has four choices

1.

Which of'the following is a transparent object ?
(A) Thin layer of water

(B) Colored glass

(C) Book

(D) Butter paper

Lunar eclipse occurs on
(A) New Moon day
(B) Full Moon day

(C) Full Sunday

(D) Everyday

Which of'the following is not a natural source
of light ?

(A) Lightning

(B) Electric bulb

(C) Volcanic eruptions

(D) Glowworms

Which of the following statement/s is/are

True(T) or False(F) ?

(i) A shadowhasnomassanditisn’tanobject.

(ii) When a shadow is formed by a point size
light source, the umbra region of shadow
is greater than its penumbra region.

(iii) For reflection of light rays, angle of
incidence is always equal to the angle of

reflection.

xxxxx 06291023 ##*x*

Code :

(i) (ii) (iii)
AT F T
BT T T
O F F T
D)yF T F

Radha, a student of 6" standard, goes to her
school at 8:00 am and comes back at 3:00 pm.
The distance of Radha’s school from home is
13.25 km. What will be the total distance in
Radha’s one round of home to school and

school to home ?

School
(A) 27000 m
(B) 2750 km
(C) 13250 cm
(D) 26.5km

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Match Column — I with Column — II and

select the correct answer using the codes

given below.

Column —I1
1. 10 quintals

Column -1

P. One millennium

Q. One metric ton 2. 10 years
R. One decade 3. 10 centuries
Code :
P Q R
A2 3 1
B3 1 2
<3 2 1
2 1 3

The phenomenon of bouncing back of light in
same medium after striking the reflecting
surface is called as reflection of light. Laws of
reflection of light holds for all type of reflecting

surfaces.

Reflection of light

xxxxx 06291023 ##*x*

Which of'the following is not correct about the
image formed by reflection of light from plane
mirrors ?

(A) Image formed is real

(B) Image formed is virtual

(C) Imageislaterally inverted

(D) Image is of same size as object

Space for rough work
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(A), (B), (C) and (D) out of which ONLY ONE is correct.

OLYMP!AD
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PART II : CHEMISTRY

This section contains 06 Multiple Choice Questions (Q : 08 to Q : 13). Each question has four choices

8.

10.

11.

Which of the following represent the correct
sequence to obtain cotton fabric :

(A) Picking—Ginning—Spinning— Weaving
(B) Ginning—Picking— Spinning—Weaving
(C) Spinning—Picking—Ginning— Weaving
(D) Weaving—Spinning—Picking—Ginning

1s man-made fibre which is

synthesized in laboratory by chemicals.
(A) Jute

(B) Silk

(C) Nylon

(D) Cotton

The hardest naturally occuring substance is :
(A) Wood

(B) Teeth

(C) Stone

(D) Diamond

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Fibres are first converted into yarn by the
process of knitting.

(i) The coconut fibres are used for making
ropes and mats.

(iii) The clothmade from the stem fibres of flax

plant is called rayon.

xxxxx 06291023 ##*x*

12.

Code :

(i) (ii) (iii)
(A)T F F
BT F T
O F F T
D)yF T F

Match Column — I with Column — IT and
select the correct answer using the codes

given below.

Column - 11

1. Transparent

Column-1I

P. Stone
Q. Pure water 2. Opaque
R. Sand paper 3. Rough materials
Code :
P 0
A1 2
B)3 2
)2 3
1

(D) 2

W = = Wy

Space for rough work
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When a wooden object or a plastic ball is placed
in water, it floats. Wood and plastic are lighter
(less dense) than water. So, they float on wa-
ter. A pumice stone also floats on water.

A piece of rock, ametal nail, an iron ball and a pin
sink in water. This is because these objec ts are
denser than water.

Before we discuss why an object floats or sinks,
let us recall what is matter. Matter is anything
that has mass and volume. Mass is the amount
of matter in an object. Volume is the space oc-
cupied by the matter. Density is defined as mass

per unit volume.

_ sinksinthe water, while  floats on
the water.

(A) Oil, stone

(B) Oil, wax

(C) Ironnail, oil

(D) Pumice stone, ice

xxxxx 06291023 ##*x*
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PART III : BIOLOGY

This section contains 07 Multiple Choice Questions (Q : 14 to Q : 20). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

14.

15.

16.

17.

Mohan s 11 years old boy. He is suffering from
acondition called ‘obesity’ because all the time,
he takes a type of food.

(A) Minerals

(B) Protein

(C) Fat

(D) Vitamin

Swollen glands in neck and mental disability
found in adult as well as children. These are the
symptoms of deficiency of
(A) Tron

(B) Iodine

(C) Calcium

(D) Magnesium

Amla is the richest source of
(A) Vitamin-A
(B) Vitamin-B
(C) Vitamin-C
(D) Vitamin-D

A small white structure may have grown out of
seeds is called :

(A) Roots

(B) Sprouts

(C) Seeds

(D) None of'these

xxxxx 06291023 ##*x*

18.

19.

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Vitamin-D is synthesized when body is
exposed to sunlight.

(ii) We get calcium from milk and milk
products.

(iii) Rice alone can provide all necessary

nutrients to body.
Code :

(i) (ii) (iii)
(A)T F F
B T T F
O F F T
D)yF T F

Match Column — I with Column - IT and
select the correct answer using the codes
given below.

Column - IT
1. Chimpanzee

2. Bacteria
3. Vulture

Column-1I

P. Scavengers

Q. Frugivores
R. Decomposers
Code :
P Q
A1 2
B) 3 2
<2 1
1

R
3
1
3
(D) 3 2

Space for rough work
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20.  Germination begins when the seed absorbs

water, swells and bursts through the seed coat.
All seeds need water, oxygen and optimal
temperature to germinate. A common example
of seed germination is the sprouting of a seed-

ling from a seed.

After the root has grown downwards a small

shoot grows upward, towards light. This shoot

isknownas
(A) Radicle
(B) Plumule
(C) Flower
(D) Cotyledon

xxxxx 06291023 ##*x*

Space for rough work
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(A), (B), (C) and (D) out of which ONLY ONE is correct.
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PART IV : MATHEMATICS

This section contains 30 Multiple Choice Questions (Q : 21 to Q : 50). Each question has four choices

21.

22.

23.

24.

Shekhar is a famous cricket player. He has so
far scored 6980 runs in test matches. He wishes
to complete 10,000 runs. How many more runs
does he need ?

(A) 3020

(B) 2030

(C) 3200

(D) 3000

Choose the correct option :

(A) 9754 > 8320 > 571 > 847

(B) 38802 >36501>25751> 9801
(C) 38802 >36501>9801>25751
(D) 847> 571> 8320>9574

Convert 1 billion into lakhs.
(A) 100 lakhs

(B) 101lakhs

(C) 1000 lakhs

(D) 10000 lakhs

Which of the following numbers in Roman
numerals is incorrect ?

(A) LXII

(B) XCI

(©) LC

(D) XLIV

xxxxx 06291023 ##*x*

25.

26.

27.

28.

Find the difference between the place value and
face value of the digit 2 in 3124698.

(A) 19999

(B) 20000

(C) 19998

(D) 18998

What is the two consecutive whole numbers just
preceeding 8510001 ?

(A) 8510000, 8509999

(B) 8510000, 8509998

(C) 85010001, 85010002

(D) 8510099, 85100100

Saleem deposited Rs 25,000 in his saving bank
account. Later he withdrew Rs 5,425 from it.
How much money was left in his account ?
(A) 19757

(B) 19575

(C) 19577

(D) 19755

Find the product of the greatest number of five
digit and the smallest number of four digit.

(A) 9999000

(B) 9999900

(C) 99999000

(D) 999990

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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30.

31.

32.
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Ifaand b are integers, then a + b.
(A) May or may not be an integer
(B) Alwaysan integer

(C) Never be an integer

(D) None of these

When zero is multiplied by any negative integer,
their product will be :

(A) Apositive integer

(B) A negative integer

(C) Zero

(D) None of'these

A certain freezing process requires that room
temperature be lowered from 43°C at the rate
of 8°C every hour. What will be the room

temperature 6 hours after the process begins ?

(A) —50°C
(B) —52°C
(C) —05°C

(D) None of these

Find a pair of negative integers whose difference
gives positive 6.

A) (3,79

B) 9.06)

©) 9.3

(D) (12,-6)

xxxxx 06291023 ##*x*

33.

34.

3S.

36.

A line segment passing through the centre of
the circle and whose end points lie on the circle
iscalled :

(A) Diameter

(B) Radius

(C) Sector

(D) None of'these

In the given figure lines /, m and » are called :

(A) Collinear lines

(B) Parallel lines

(C) Concurrent lines

(D) Transversal lines

The basic elements of a quadrilateral are :
(A) 4vertices

(B) 4sides

(C) 4angles

(D) Allofthese

Which of the following statements is incorrect ?

(A) Line ABissameas line BA.

(B) Line segment AB is same as line segment
BA -

(C) Ray AB isthe same asray gA -

(D) AB perpendicular to CD is same as CD
perpendicular to AB.

Space for rough work
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38.

39.

40.
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Which of the following numbers are co-prime :
(A) 18 and 34
(B) 30and 415
(C) 17 and 68
(D) 15and 37

The H.C.F. and L.C.M of two numbers are 2
and 1456 respectively. If one of the number is
112. Determine the other number.

(A) 26

(B) 62

(C) 28

(D) 65

A school has three sections of class 6th. They

need to have enough books in the class library
so that they can be distributed equally in the
three sections. What is the minimum number of
books required if the number of students in
section A, B and C are 30, 32 and 36
respectively ?

(A) 30

(B) 36

(C) 288

(D) 1440

In a morning walk three persons step off
together. Their steps measuring 80 cm, 85 cm
and 90 cm respectively. What is the minimum
distance each should walk so that they can cover

the distance in complete steps ?

xxxxx 06291023 ##*x*

41.

(A) 12240 cm

(B) 122m40cm

(C) Both(A)and (B)
(D) None of'these

Match Column — I with Column — II and

select the correct answer using the codes

given below.

Column -1 Column - 11

P.x+0 1. Distributive
property

Q.(—a) x b=b x (—a) 2. Notdefined
R.x x(y+z)= 3. Commutative
XXy+XxX2Z
Code :
P
(A) 2
B) 3
) 3
(D) 2

property

»—-[\)»—Awm

R
1
2
1
3

Space for rough work
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43.
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Match Column — I (Numbers) with

Column — II (Expanded forms) and select

the correct answer using the codes given

below.

Column-1I Column - 1T

P. 47300 1. 2 x 10000 +9
x 1000 + 8 x 100
+5

Q.29805 2. 4 x 10000 +
7 x 1000+ 3 x 100

R. 65740 3. 6 x 10000 + 5 x
1000+7 x 100 + 4
x 10

Code :

P QO R

A2 3 1

B)y2 1 3

<1 2 3

D3 2 1

Match Column — I with Column — II and

select the correct answer using the codes

given below.

Column-1I Column - IT

P. 297 x 17+297x3 1. 5427900

Q.54279 x 92 + 2. 8126500
8 x 54279

R.81265 x 169 — 3. 005940
81265 x 69

xxxxx 06291023 ##*x*

44.

45.

Code :

P
(A) 2
B) 3
() 2
(D) 3

r—r—[\)wm

R
1
1
3
2

Which of the following statement/s is/are
True(T) or False(F) ?

(i) 18—|-12|isequalto 6.

(i) The smallest negative integer is not defined.

(iii) Zero is greater than every non-negative

integers.
Code :

() (i) (iii)
AT F T
B)F F T
(C)F T F
M)y T T F

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Four points are collinear if any three of
them lie on the same line.

(ii) The minimum number of point of
intersection of three lines is one.

(iii) Two different lines can be drawn passing

through two given points.

Space for rough work
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Code : Paragraph for Questions 47 to 48
(i) (i) (iii) Ritesh and his wife book seats H13 and H14
AT F T for a show. They order some snacks from the
B)F F F menu below :
©F T F Burger Rs 170
T T F Cold drink Rs 180
Popcorn Rs 190
46.  Which of the following statement/s is/are Nachos Rs 200
True(T) or False(F) ? Water bottle Rs 40
() All numbers divisible by 18 are also Altogether, they spend Rs 1280 including the
divisible by 9. cost of tickets.
(i) A numberisdivisible by 35ifitis divisible 47.  Whatis the total cost of snacks if they ordered
by both 7 and 5. cold-drink and nachos?
(iii) A numberis divisible by 6 ifitis divisible (A) Rs380
by both 5 and 3. x (B) Rs420
Code : E, (C) Rs 800
(i) (i) (iii) S (D) Rs 1280
AT F T § 48.  IfRitesh and his wife order every snacks one
T T T § time, than the price of tickets is :
©F F T % (A) Rs580
D) T T F * (B) Rs 1280
(C) Rs500
(D) Rs780

Space for rough work
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50.
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Paragraph for Questions 49 to S0

The students were asked to draw a closed figure
with few points inside the figure, few point
outside the figure and few point on the boundary
of the figure. One of'the child drew a figure like

this:

oS

* O

e R
Where do points C, Z, M lie in the figure ?
(A) Interior

(B) Exterior

(C) Onthe boundary

(D) None of these

Which points lie in the exterior of the figure ?
(A) Q,R,0,S,K,P

B) Q,R,0,8,Z,M

(C) Q,R,0,S

(D) Allofthese

xxxxx 06291023 ##*x*
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PART V : LOGICAL REASONING & 1Q

This section contains 10 Multiple Choice Questions (Q : 51 to Q : 60). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

51.  Find the missing number which will complete 54.  Sunil walks 15 m towards North. Then he turns
the given series : left and walks 10 m. Again he turns left and
4, 8, 24, 96, 480, ? walks 15 m. Then he turns right and walks 20
(A) 2400 m. How far is he now from the starting point ?
B) 960 (A) 20m
(C) 1920 (B) 10m
(D) 2880 (C) 30m
(D) 15m
52.  Find the missing number which will complete
the given series : 55.  If‘East’ becomes ‘North-East’, ‘North-East’
92,90, 87, 82, 75,? A becomes ‘North” and so on, then what will
(A) 66 § ‘South-West’ becomes ?
B) 64 é (A) West
©) 62 = B) South-East
(D) 68 § (C) South
a (D) East
53. Which of the following sets of letters will %
P
continue the given series ? ¥ 56. Inarow of certain people, Pradeep is sitting
KTJ, MSK, ORL, QQM, ? 463" place from the left end and 531* place
(A) RPN from the right end.
(B) SPQ Find out the total number of people in this row ?
(C) TOM (A) 963
(D) SPN B) 942
(C) 993
(D) 994

Space for rough work
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If '+' denotes 'x', 'x' denotes '+','=" denotes '~
and '-' denotes '+, then find the value of -

48 x16+9+3-6

A) 30

B) 23

(C) 36

D) 39

A transparent sheet (X) with a pattern and a
dotted line on it is given. Find a figure from the
options as to how the pattern would appear
when the sheet is folded along the dotted line.

2
4

Sheet (X)

D)

xxxxx 06291023 ##*x*

59.

60.

Select the correct water image of the given

combination of letters and numbers :

ST93YL65E

(A) 2Lo3AIe2E
(B) 2la3YrezE
(C) 2193AIC5E
(D) AS9TAEBLS

Select the correct mirror image of the given
combination of numbers, alphabets and

symbols, if the mirror is placed at the line AB.

A

RI478#US

joe]

(a) 2U%#87AIR
®) 2U#8\AIA
© 2U#874IA
(D) RIPX8RUC

Space for rough work
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